

A Semigroup Approach to Semilinear Functional Differential Equations in a Banach Space

Bahloul Rachid

Faculty of sciences and Technology, Fes-Saïss

Fes, Morocco

Marakkech_math@hotmail.com

Omar Sidki

Faculty of sciences and Technology, Fes-Saïss

Fes, Morocco

Keywords: Functional differential equations

Abstract

A class of semilinear autonomous functional differential equations of retarded type is studied by associating with it an evolution equation in the space of initial data, the space $C([-r, 0]; X)$. Existence, uniqueness and regularity results are proved.

I. INTRODUCTION

Let X be a Banach space endowed with a norm $|\cdot|$ and r be any nonnegative real number.

Let $C = C([-r, 0]; X)$ be the Banach space of continuous functions mapping the interval $[-r, 0]$ into X .

Consider the following semilinear functional differential equation of retarded type :

$$\frac{dx}{dt} = Ax(t) + F(x_t), x_0 = \phi \in C([-r, 0]; X), 0 \leq t \leq T; \quad (1)$$

By a Solution x of equation (1) we mean a function mapping $[-r, T]$ into X , such that $x_t \in C([-r, 0]; X)$, For all $t \in [0, T]$ and satisfying equation (1), where x_t is the history of x at time t defined pointwise by

$$x_t(\theta) = x(t + \theta); -r \leq \theta \leq 0$$

For $\phi \in C([-r, 0]; X)$, we set

$$\|\phi\| = \sup_{\theta \in [-r, 0]} |\phi(\theta)|$$

And suppose the following hypotheses

we prove that \tilde{A} generates a semigroup of operators $\tilde{T}(t)$ and $x(t)$ defined by :

$$\begin{aligned} x(t) &= \phi(t) \text{ if } t \in [-r, 0] \\ x(t) &= (\tilde{T}(t)\phi)(0) \text{ if } t \in [0, +\infty[\end{aligned}$$

Is the unique solution of equation (1), continuous on $[-r, +\infty[$. The existence of a nonlinear semigroup of operators associated to (1) is deduced from the following general result of M.G.Crandall and T.Liggett [2] :

Theorem 1 : Let X be a Banach space

If A be an operator (nonlinear) α -dissipatif ($\alpha \in R$) and

$Im(I - \lambda A) \supset \overline{D(A)}$; for all $\lambda > 0$ small enough

Then

$$T(t)x = \lim_{n \rightarrow +\infty} (I - \frac{t}{n}A)^{-n}x, \text{ exists for all } x \in \overline{D(A)}. \quad (3)$$

And the family of applications $T(t) : \overline{D(A)} \rightarrow \overline{D(A)}$ is a nonlinear C_0 -semigroup.

The Crandall-Liggett theorem is a generalization of the Hille-Yosida-Phillips theorem [12].

In the linear case, we have $A\phi = \lim_{t \rightarrow 0} \frac{T(t)\phi - \phi}{t}$ and $t \rightarrow T(t)$ is a solution of the Cauchy problem, while this result does not hold in general in the nonlinear case. It holds however if X is reflexive ([1], [3]).

Hence, we prove that the operator defined by (2) is an infinitesimal generator of $\tilde{T}(t)$.

Lemme 1 Suppose That (H_1) and (H_2) are satisfied, then, for all $\lambda \in]0, \frac{1}{\alpha}[$ and $\phi \in C$, we have

$$(\tilde{J}\phi)(0) = J_\lambda[\lambda F(\tilde{J}\phi) + \phi(0)]. \quad (5)$$

proof : From proposition 1a), we have for all $\psi \in C$ there exists $\phi \in D(\tilde{A})$ such that $(I - \lambda\tilde{A})\phi = \psi$, that is,

$$\phi(\theta) = e^{\frac{\theta}{\lambda}}\phi(0) + \frac{1}{\lambda} \int_0^\theta e^{\frac{\theta-s}{\lambda}} \psi(s) ds, \quad (6)$$

and $\phi(0) = \psi(0) + \lambda\phi(0) = \psi(0) + \lambda(A\phi(0) + F\phi)$. Therefore

$$\phi(0) = (I - \lambda A)^{-1}[\lambda F(\phi) + \psi(0)] = \frac{1}{\lambda} \int_0^\theta e^{\frac{\theta-s}{\lambda}} \psi(s) ds + \psi(0). \quad (7)$$

For all $\lambda \in]0, \frac{1}{\alpha}[$ and $\phi \in C$, $\tilde{J}_\lambda\phi$ exists and $\tilde{J}_\lambda\phi \in D(\tilde{A})$, given by

$$(\tilde{J}_\lambda\phi)(\theta) = e^{\frac{\theta}{\lambda}}(\tilde{J}_\lambda\phi)(0) + \frac{1}{\lambda} \int_0^\theta e^{\frac{\theta-s}{\lambda}} \phi(s) ds, \text{ for } \theta \in [-r, 0]. \quad (8)$$

From (7) and (8), we have $(\tilde{J}_\lambda\phi)(\theta) = e^{\frac{\theta}{\lambda}} J_\lambda[\lambda F(\tilde{J}\phi) + \phi(0)] + \frac{1}{\lambda} \int_0^\theta e^{\frac{\theta-s}{\lambda}} \phi(s) ds$; so,

$$(\tilde{J}\phi)(0) = J_\lambda[\lambda F(\tilde{J}\phi) + \phi(0)].$$

The nonlinear semigroups of Crandall-Liggett are not always differentiable (see [2]). Then we define the infinitesimal generator of $\tilde{T}(t)$ by $B\phi = \lim_{t \rightarrow 0} \frac{\tilde{T}(t)\phi - \phi}{t}$ if $\phi \in D(B) = \left\{ \phi \in C : \lim_{t \rightarrow 0} \frac{\tilde{T}(t)\phi - \phi}{t} \text{ exists} \right\}$.

Lemme 2 Suppose That (H_1) and (H_2) are satisfied, then,

(a) for all $\phi \in C$, for all $n \geq 1$, we have

$$\lim_{t \rightarrow 0} \frac{1}{n} \sum_{i=0}^{n-1} J_{\frac{t}{n}}^{(i+1)} [F(J_{\frac{t}{n}}^{n-i}\phi) - F(\phi)] = 0$$

(b) for all $\phi \in C$, and $n \geq 1$, we have $\lim_{t \rightarrow 0} \frac{1}{n} \sum_{i=0}^{n-1} [J_{\frac{t}{n}}^{(i+1)} - I] F(\phi) = 0$.

(c) for all $\phi \in C$, such that $\phi(0) \in D(A)$, we have

$$\lim_{t \rightarrow 0} \lim_{n \rightarrow +\infty} \frac{1}{t} [J_{\frac{t}{n}}^n - I - tA]\phi(0) = 0.$$

Proposition 2 Suppose That (H_1) and (H_2) are satisfied, then,

(a) for all $\phi \in C$, $(\tilde{T}(t)\phi)(\theta) = (\phi)(t + \theta)$ if $-r \leq t + \theta < 0$.

(b) The operator \tilde{A} defined by (2) is an infinitesimal generator of $(\tilde{T}(t))$ (i.e.

$\tilde{A} = B$).

Hence,

$$\begin{aligned} \frac{(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - \phi(0)}{t} - \dot{\phi}(0) &= \frac{(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - \phi(0)}{t} - A\phi(0) - F(\phi). \quad (10) \\ &= \frac{1}{n} \sum_{i=0}^{n-1} J_{\frac{t}{n}}^{(i+1)} [F(J_{\frac{t}{n}}^{n-i}\phi) - F(\phi)] + \frac{1}{n} \sum_{i=0}^{n-1} [J_{\frac{t}{n}}^{(i+1)} - I] F(\phi) \\ &+ \frac{1}{t} [J_{\frac{t}{n}}^n - I - tA]\phi(0) \end{aligned}$$

And by lemma 2, we have

$$\begin{aligned} \lim_{t \rightarrow 0} \frac{\tilde{T}(t)\phi(0) - \phi(0)}{t} &= \lim_{t \rightarrow 0} \lim_{n \rightarrow +\infty} \frac{1}{t} [(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - \phi(0)] \\ &= A\phi(0) + F(\phi) \\ &= \dot{\phi}(0); \end{aligned}$$

thus $\phi \in D(B)$ and $B\phi = \dot{\phi}$.

Conversely, we shall prove that if $\phi \in D(B)$ then $\phi \in D(\tilde{A})$ and $\tilde{A}\phi = B\phi$. In fact, let $\phi \in D(B)$, then $B\phi = \lim_{t \rightarrow 0} \frac{\tilde{T}(t)\phi - \phi}{t} = \dot{\phi}$ existe in C , so, $\phi \in C^1$ and

$$\phi(0) = \lim_{t \rightarrow 0} \frac{(\tilde{T}(t)\phi)(0) - \phi(0)}{t} = \lim_{t \rightarrow 0} \lim_{n \rightarrow +\infty} \frac{1}{t} [(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - \phi(0)]. \quad (11)$$

We will prove that $\dot{\phi}(0) = A\phi(0) + F(\phi)$. From (14) and lemma 2, we have $\lim_{t \rightarrow 0} \lim_{n \rightarrow +\infty} \frac{1}{t} [(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - \phi(0)] = A\phi(0) + F(\phi)$.

So, by (11) one obtains $\dot{\phi}(0) = A\phi(0) + F(\phi)$. Hence, $\phi \in D(\tilde{A})$ and $\tilde{A}\phi = B\phi = \dot{\phi}$.

3 Main result

Theorem 2 : Suppose That (H_1) and (H_2) are satisfied and ϕ be an element of $C([-r, 0]; X)$. Then, the equation (1) has a unique solution, continuous on $[-r, +\infty[$ and given by

$$\begin{aligned} x(t) &= \phi(t) \text{ if } t \in [-r, 0] \\ x(t) &= (\tilde{T}(t)\phi)(0) \text{ if } t \in [0, +\infty[. \end{aligned}$$

In addition if for all $t \in [0, +\infty[$, $x(t) \in D(A)$, and the map

$t \rightarrow Ax(t)$ is continuous, then the solution $x(t)$ is of class C^1 on $[-r, +\infty[$.

Lemme 3 : Suppose That (H_1) and (H_2) are satisfied. Then, for each $\phi \in C$, $t \geq 0$ and for all $j \in \{1, \dots, m\}$, $k \in \{0, \dots, p-1\}$, we have

$$\lim_{p \rightarrow +\infty} \lim_{m \rightarrow +\infty} J_{\frac{t}{mp}}^{m(p-k)-j+1} [F(J_{\frac{t}{mp}}^{mk+j}\phi) - F(J_{\frac{t}{mp}}^{mk}\phi)] = 0. \quad (12)$$

and for all $p \in N$, we have

$$\lim_{m \rightarrow +\infty} [J_{\frac{t}{mp}}^{m(p-k)-j+1} - J_{\frac{t}{mp}}^{m(p-k)}] F(J_{\frac{t}{mp}}^{mk}\phi) = 0. \quad (13)$$

Lemme 4 : Suppose That (H_1) and (H_2) are satisfied. Then, for each $\phi \in C$, $t \geq 0$, we have

$$\lim_{p \rightarrow +\infty} \lim_{m \rightarrow +\infty} \left[\frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m J_{\frac{t}{mp}}^{m(p-k)-j+1} F(J_{\frac{t}{mp}}^{j+mk}\phi) - \frac{t}{p} \sum_{k=0}^{p-1} J_{\frac{t}{mp}}^{m(p-k)} F(J_{\frac{t}{mp}}^{mk}\phi) \right] = 0.$$

proof : For each $\phi \in C$ and $t \geq 0$, we have

$$\begin{aligned} &\left| \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m J_{\frac{t}{mp}}^{m(p-k)-j+1} F(J_{\frac{t}{mp}}^{j+mk}\phi) - \frac{t}{p} \sum_{k=0}^{p-1} J_{\frac{t}{mp}}^{m(p-k)} F(J_{\frac{t}{mp}}^{mk}\phi) \right| \\ &\leq \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m \left| J_{\frac{t}{mp}}^{m(p-k)-j+1} F(J_{\frac{t}{mp}}^{j+mk}\phi) - J_{\frac{t}{mp}}^{m(p-k)} F(J_{\frac{t}{mp}}^{mk}\phi) \right| \\ &\leq \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m \left| J_{\frac{t}{mp}}^{m(p-k)-j+1} [F(J_{\frac{t}{mp}}^{j+mk}\phi) - F(J_{\frac{t}{mp}}^{mk}\phi)] \right| + \\ &\frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m \left| [J_{\frac{t}{mp}}^{m(p-k)-j+1} - J_{\frac{t}{mp}}^{m(p-k)}] F(J_{\frac{t}{mp}}^{mk}\phi) \right|; \end{aligned}$$

and the result follows from lemma 3.

proof of theorem 2 :

We have to show that $\tilde{T}(t)\phi$ verifies the delay equations (1). We will look at the integral form

$$x(t) = T(t)\phi(0) + \int_0^t T(t-s)F(x_s)ds,$$

that is,

$$(\tilde{T}(t)\phi)(0) = T(t)\phi(0) + \int_0^t T(t-s)F(\tilde{T}(s)\phi)ds.$$

we write (9) as

$$(\tilde{J}_{\frac{t}{n}}^n\phi)(0) - J_{\frac{t}{n}}^n\phi(0) = \frac{t}{n} \sum_{i=0}^{n-1} J_{\frac{t}{n}}^{i+1} F(J_{\frac{t}{n}}^{n-i}\phi); \quad (14)$$

by a change of variable $n-i = j$, one obtains

$$\frac{t}{n} \sum_{i=0}^{n-1} J_{\frac{t}{n}}^{i+1} F(J_{\frac{t}{n}}^{n-i}\phi) = \frac{t}{n} \sum_{j=1}^n J_{\frac{t}{n}}^{n-j+1} F(J_{\frac{t}{n}}^j\phi),$$

and we change n by mp , we have

$$\frac{t}{mp} \sum_{j=1}^{mp} J_{\frac{t}{mp}}^{mp-j+1} F(J_{\frac{t}{mp}}^j\phi) = \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m J_{\frac{t}{mp}}^{m(p-k)-j+1} F(J_{\frac{t}{mp}}^{mk+j}\phi);$$

Also, from (4), we have

$$\frac{t}{p} \sum_{k=0}^{p-1} J_{\frac{t}{mp}}^{m(p-k)} F(J_{\frac{t}{mp}}^{mk}\phi) \rightarrow \frac{t}{p} \sum_{k=0}^{p-1} T(t - \frac{k}{p}) F(T(\frac{tk}{p})\phi), \text{ as } m \rightarrow +\infty, \quad (15)$$

$$\frac{t}{p} \sum_{k=0}^{p-1} T(t - \frac{k}{p}) F(T(\frac{tk}{p})\phi) \rightarrow \int_0^t T(t-s)F(\tilde{T}(s)\phi)ds, \text{ as } p \rightarrow +\infty \quad (16)$$

$$\left| \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m J_{\frac{t}{mp}}^{m(p-k)-j+1} F(\tilde{J}_{\frac{t}{mp}}^{mk+j} \phi) - \int_0^t T(t-s) F(\tilde{T}(s)\phi) ds \right|$$

$$\leq \left| \frac{t}{mp} \sum_{k=0}^{p-1} \sum_{j=1}^m J_{\frac{t}{mp}}^{m(p-k)-j+1} F(\tilde{J}_{\frac{t}{mp}}^{mk+j} \phi) - \frac{t}{p} \sum_{k=0}^{p-1} J_{\frac{t}{mp}}^{m(p-k)} F(\tilde{J}_{\frac{t}{mp}}^{mk} \phi) \right| \quad (17)$$

$$+ \left| \frac{t}{p} \sum_{k=0}^{p-1} J_{\frac{t}{mp}}^{m(p-k)} F(\tilde{J}_{\frac{t}{mp}}^{mk} \phi) - \frac{t}{p} \sum_{k=0}^{p-1} T(t - \frac{k}{p}t) F(\tilde{T}(\frac{tk}{p})\phi) \right|$$

$$+ \left| \frac{t}{p} \sum_{k=0}^{p-1} T(t - \frac{k}{p}t) F(\tilde{T}(\frac{tk}{p})\phi) - \int_0^t T(t-s) F(\tilde{T}(s)\phi) ds \right|,$$

and from lemmas 3.4, (15) and (16), the right-hand side of (21) tends to zero as $m, p \rightarrow +\infty$. Therefore, if we pass to limit in (14) as $n \rightarrow +\infty$, we have

$$(\tilde{T}(t)\phi)(0) = T(t)\phi(0) + \int_0^t T(t-s)F(\tilde{T}(s)\phi)ds.$$

that is,

$$x(t) = T(t)\phi(0) + \int_0^t T(t-s)F(x_s)ds, \quad (18)$$

Now, we prove that $x(t)$ is the unique solution of (1). In fact, from (H_1) , (H_2) and (18), we have

$$\|x_t - y_t\| = \sup_{-r \leq \theta \leq 0} \|x(t+\theta) - y(t+\theta)\|$$

$$= \sup_{-r \leq \theta \leq 0} \left\| \int_0^{t+\theta} T(t+\theta-s)(F(x_s) - F(y_s))ds \right\|$$

$$\leq \alpha \int_0^t \|x_s - y_s\| ds;$$

So, by Gronwall's lemma, we have $x_t = y_t$, for all $t \geq 0$.

Theorem 3 Suppose That (H_1) and (H_2) are satisfied. If we have $(\tilde{T}(t)\phi)(0) \in D(A)$ and $t \rightarrow A(\tilde{T}(t)\phi)(0)$ is continuous on $[0, +\infty[$. Then,

(a) $\tilde{T}(t)\phi \in D(A)$, for all $t \geq 0$.

(b) $\tilde{T}(t)C \subset D(\tilde{T})$, for all $t \geq r$.

proof : (a) For all $\theta \in [-r, 0]$, we have $x_t = \tilde{T}(t)\phi$ i.e.

$$x(t+\theta) = (\tilde{T}(t)\phi)(\theta) = (\tilde{T}(t+\theta)\phi)(0) \text{ if } t+\theta \geq 0.$$

$$x(t+\theta) = (\tilde{T}(t)\phi)(\theta) = \phi(t+\theta) \text{ if } (t+\theta) \in [-r, 0].$$

So,

$$(\tilde{T}(t)\phi)(\theta) = (\tilde{T}(t+\theta)\phi)(0) + \int_0^{t+\theta} T(t+\theta-s)F(\tilde{T}(s)\phi)ds \text{ if } t+\theta \geq$$

$$(\tilde{T}(t)\phi)(\theta) = \phi(t+\theta) \text{ if } (t+\theta) \in [-r, 0]$$

We will prove that $\tilde{T}(t)\phi \in D(\tilde{A})$. In fact,

$$\frac{d}{d\theta}(\tilde{T}(t)\phi)(\theta) = A(\tilde{T}(t+\theta)\phi)(0) + F(\tilde{T}(t+\theta)\phi) \text{ if } t+\theta \geq 0.$$

$$\frac{d}{d\theta}(\tilde{T}(t)\phi)(\theta) = \frac{d}{d\theta}\phi(t+\theta) \text{ if } (t+\theta) \in [-r, 0].$$

$\phi \in D(\tilde{A})$, so $\phi \in C^1$ and $\dot{\phi} = A\phi(0) + F(\phi)$. Thus the map $\theta \rightarrow \frac{d}{d\theta}(\tilde{T}(t)\phi)$ is continuous on $[-r, 0]$ and $\frac{d}{d\theta}(\tilde{T}(t)\phi)(0) = A(\tilde{T}(t)\phi)(0) + F(\tilde{T}(t)\phi)$. $\tilde{T}(t)\phi \in D(\tilde{A})$.

(b) Let $\phi \in C$ and $t \geq r$ ($t+\theta \geq 0$). From (19), we have

$$\frac{d}{d\theta}(\tilde{T}(t)\phi)(\theta) = A(\tilde{T}(t+\theta)\phi)(0) + F(\tilde{T}(t+\theta)\phi)$$

As the same that (a) we have $\tilde{T}(t)\phi \in D(\tilde{A})$, for all $\phi \in C$ and $t \geq$

Bibliographie

- [1] M.G.Crandall, The Semigroups Approach to Quasilinear Equations, Israel J. Math., 12, 108-132, (1972).
- [2] M.G.Crandall and T.Liggett, Generation of Semigroups of Nonlinear Transformations on general Banach Spaces, Amer. J. Math. 93, 265-298, (1971).
- [3] H.Flaschka, Nonlinear semi groups and a hyperbolic conservation law, Technical Report 72-9, Department of mathematics, Mellon Institute of Science, Carrengie- Mellon University, Pittsburgh, PA, (1972).
- [4] H.Flaschka and M.J.Leitman, On semigroups of nonlinear operators and the solution Of the functional equation $\dot{x}(t) = F(x_t)$, Journal of Mathematical Analysis and Applications 49, 649-658, (1975).
- [5] J.Hale, Theory of functional differential equations, Springer-Verlag, New-York, Vol 3, A.M.S, (1977).
- [6] N.Pavel, Nonlinear evolution operators and semigroups, Lecture Notes in Mathematics 1260, Springer-Verlag, (1987).
- [7] I.E.Segal, Non-linear Semi-groups, Ann. of Math. (2) 78 (1963), 339-364. MR 27 #2879.
- [8] O.Sidki, Une approche par la thorie des semi-groupes non linaires de la rsolution dune classe dquations diffrentielles fonctionnelles de type neutre, Application une quation de dynamique De population, These duniversit, Universit de Pau, N° 221, (1994).
- [9] O.Sidki and O.Arino, on semigroups of Nonlinear Operators and the Solution of Functional Differential Equation $\dot{x}(t) = F(x_t)$, Dynamics of Continuous, Discrete and Impulsive systems, (To appear).
- [10] C.C.Travis and G.F.Webb, Existence and staility for partial functional differential, Trans. Math. Soc. 200 (1974), 395-418.
- [11] G.F.Webb, Autonomous nonlinear functional differential equations and nonlinear Semigroups, Journal of Mathematical and Applications 46, 1-12, (1974).
- [12] K.yosida, Functional analysis, 2end Edition, Springer-verlag, New-York, (1968).